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4Rk R&h Al Py P S 48 BHRE
85 =4t =N 16,861
86 =4t — BB 11,163
87 =1tm ESI1 17,528
88 =1t/ B 2= B P 3,476
89 =1tm 51t 51E 10,952
90 =1t/ A BT 3,772
91 =1t/ BEAS BN 4,011
92 =1tm =1bmpE 16,969
93 =1tm =/ 1,417
94 =4t — #4635 4422
95 =1t EZ BN 838
9% =1t I 1 B 5t 5,951
97 =1tm = 1,331
98 =1tm =Pin 3,781
99 =1t axXEE 166
100 =1t 16:E D P 162
101 =1t B BlR 1,077
102 =1t oh ||| B R 514
103 =1t B B 5t 147
104 =1t fiffE=S B* 326
105 =1t Y= 267
106 =1t R BN 340
107 =1t FREEN 505
108 =1tm hEE =1t 417
109 =1t ZBERN 10
110 =1t BEEN 627
111 =1t BBl 542
112 =1t EEEN 753
113 =1t FEEMR 392
114 =im AR 51
115 =1t =EEMT 812
116 =1t BEEER 2
117 =1t MIERER 41
118 =1t FHERE 18
119 =1t BARDPEE 10
120 =1tm REGFEER 84
121 =1tm™ EERBIRE 3
122 =1tm RES I 18
123 =1tm™ RENNIF 39
124 =1tm™ RERE 85
125 =1tm™ REFE 90
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